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	 1.	 45 = 1 024
		  k = 4

	 2.	 1 3
5 2–2

	 = 1 5
3 22

	  

			   = 25
9

 

	 3.	 16
3
4  =  4√163    

	 4.	 36
3
2  	= 63 

		  Maka / Thus,
		    = 3

	 5.	 1
6

m5 × 24m 

		  = 1
6

 × 24 × m5 + 1 

		  = 4m6 

	 6.	 10mx ÷ 2m3	 = 5m6  
			   5mx −3	 = 5m6  
			   x − 3	 = 6
			   x	 = 9

	 7.	 h3	= 216
4
3  × 36

–   1
2   

		  h3 = (63)
4
3  × (62)

–   1
2  

		  h3 = 64 × 6–1 
		  h3 = 64 + (–1)  
		  h3 = 63

		  h	 = 6

	 8.	 (t2)–4 × t7 ÷ 1
t2

		  = t –8 + 7 – (–2) 
		  = t 

	 9.	 (p2q–1)
3
2  ÷ p3q

–   1
2  × p5 

		  = p3q
–   3

2  ÷ p3q
–   1

2  × p5

		  = p3 – 3 + 5q
–   3

2   
– 1–   1

2 2
  

		  = p5q–1 

		  = p5

q

	10.	 94 × 4
3−5 × 24

 

		  = (32)4 × 22 
3–5 × 24

 

		  = 38 − (−5) × 22 − 4  
		  = 313 × 2−2  
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